GRADE VIl MODEL PAPER 2017
ISLAMIAT

CRO/ERQO Paper Marking Scheme

CROs
A1 D 140
En Uy o6 22 LB Ya
Possible answers:
Jui
Checking hints:
A '—E!{“’—ﬂk‘]';"' 73
A1 1A U
B St el Ao S et S0 O L5 2o L)
Possible answers:
0J3J
Checking hints:
A '—EM"‘—'%‘”” 2
A1 :Gi) 14 i
A e GG s o o PSS S
Possible answers:
/A% | S
Checking hints:
A '—E!{“’—ﬂk‘]';"' 73
A1 1AJr
“ o NS A = QW M1 BT 0t TS
Possible answers:
25
Checking hints:

ﬁzt-g!{éﬂg»




1 W1AJr
PSR 30 S Py W A
Possible answers:
rlé;/ “
Checking hints:
=1 !4"10:93”/)
A1 GD1IAUr
et S S GV 2y QU LA
Possible answers:
Ve’
Checking hints:
A '—E!{“—ﬂ‘b‘]*"' 73
1 GiD1AJir
S WYY N VY IS 1D of PR
Possible answers:
a6
Checking hints:
/:2 h@%élﬂjg pi
21 i) 1A U
o Bt Ol L1077 £
Possible answers:
-
Checking hints:

AL g e,




A1 1A
Sy SUPP b bpnr
Possible answers:
s
Checking hints:
A ‘—.g!‘C“’—ﬂL‘J” 2
A1 014>
A NI S ISV IS g TN - N g
Possible answers:
ey
Checking hints:
ALy,
23 24
- 5 ',z}u-fu/l
(3} IF PGy LBty e Gl T 1
Possible answers:

Checking hints:

EE BN L 1S dhe i oI JE e A (BE 2L )

/:2 ..g f .4:£,.£?K¢47&"
A P AP
AL Kb 226164

3 S




A

Possible answers:

Checking hints:

-Li-’r;'*’u)f/ﬁ?%-_ui)/"fuf)lﬂju)u?UL;dJ.U)ILEJ"UU!

_z.:'_._.l,f:l;u‘ ,)ljfiLJ%JT/‘U}(,EUJ&A-J}IJ-’:;UU!
-JL@J;!ZJ&;I,LL”L}'!»/&E
S S 4 @b

AL kel 2L P
AL bzl S
AL € e i I i

A3 WSS

A

Possible answers:

Checking hints:

-Uf”_“,ljl J;' beek Lg)}/

oy, J ;' Yy
_4:_.831!,5:,_5 7 LJ;IJJI;I;J:LE-': c:.i;;)u Lulﬁ'/ Q)
-z.:'_.anlég:af @& ;.i/gjug f L}:# L,‘:"..«g f (u_a)

-‘4.(:“.%)’ .,;TZ;.I I 4 :U'.' 7 YIS OR T %‘..Jﬂq:..f"aﬂ;l el @)

_‘L.C'ﬂ’ﬁ,,jgsduﬂé. Zuz/ ©)
-bﬂéﬂLﬁc«Uﬁéﬁ»ltj’

(W3) A L6210 foe
A3




A3 54

S e ko)
O 3 759% (U TG 9% 281 01 JIy s EINg O”

Possible answers:
o Fu g awyg o 6w 64
—e byt S AL S e LA e T LS Jrr»" bt
:.»?)'L“,LT(:!T). S ALt 26
—e o bulonadedes O
—ebSegfud JJudeits ()
(ce=CF 226 AT 362 § /457, A1)
Checking hints:
AL b/cfrx"‘ 64
AL K2 oo b
AL el 27K 1317 LIS e AL s s
A3
~3 62
U 25K by e P 20 = P2
Possible answers:

Lt it s JoinF e NG 6L o8 s s b P NS e KR 12
N2
—e L UFE N as b 0)
ce o K0 el b E B ()
R T Y-CI ()
e/ Sheh ne By B O
(U ZEeLEF 120, 1l )

Checking hints:
AL TPl
(Ut s2) N £ kel s o ,qc..uf("lc,’m

A3




A3 74

LT = LG Loy T e

Possible answers:

YISy PNy Sv st 0 U3 g
i o L STL g
“SUTESCS rd Ui trr
o olgders$Udifogs
T 6% 3| LIS Sy S LGS 12,
Checking hints:
(W 3) A 1,2 F
A3Js
A3 AU
U L SIL Gk

Possible answers:

e 2B S By e 6

e b S5 B LV S Gl W e i Eolp e

e O 35 e st el S $I 20

SUUE e B IPIAL s o) 1 Ik OIS 18 Porec doKlided e $i24sos

(L rehiz LS ) O e T Vel o et e
Checking hints:
(e 3) A L 22046
N
A3 94 Jir
LSNPS ety TP S N LGN S st A 5
Possible answers:

bt gunl QL F LS e b K164 2risl p o Jol
g

(eeN-utduduyl o 2u

(G PN B e S g (NS O




(:q,f)-glg;;l!ﬂdjk;nlﬁflgn:.nﬂﬂ:/”/:sdlﬁ"l u:uiTm-@
(&cw)- Zig@)&k)'/ﬁugl;uﬂbpﬁ-)
B E o)y TS pipsle £

Checking hints:
AL 251 K
AL & 2T L
AL 1w )
A3
A3 10AUr
LIS L L e F S e s

Possible answers:
AP LANZYLALBLE (AL A S COF LA 50 E 2

Checking hints:
(L{!?:WS)/:" f !42../'/,/" M
A3
3 114U

_ui“”rl:Lu.fﬁ’d;,é_.lgu“"'Jull;l_a.f,,l;ii?iuﬂ'»:d‘i

Possible answers:

EF AL bl & E i Lo 4
i U Ui 5
6800l e
Checking hints:
AL Hf
,:?._g,;eérts.,mﬁﬁ
AL 4"£( e UL
A3




A5 :124 i

_u_'/b"'ﬁwtf’cff——L;:,lj’l/-'-a“LF‘/-U.'}:(/’:«E?!”JAIU"?!}JJLf‘/

Possible answers

ciiped piFt S o sl 20 PP LG
t)[}y)"t/(;}sauu:,a!,)-‘tui:»dg,‘t/t,u,_:'l;b:tjlfﬂt/f:.:,yeu LZ/
L P bl e e G191z Y J}_;ufm,}h:,ﬁua.ug)(_}/@l,p et ALE,

N 6=
Checking hints:

,:2._@ 42&!}»&@
ALy el L,
(U 3) 7 L1425 P 26E,
57U
As 134U
LB I s 1P S NS F g A i S e 2

Possible answers:

b SE L SV o2 P Sl gl P LG oS LSS
Sy P ES JRYNY- (3-8 P IS ;(3‘ R Ldlﬁ'il.e{_rtb’.:é{ JsF
_:‘_.Q)/ | b,
P s ST S NP
e T seyillesc dod vy
o g g/;l;/ﬁc.gbf”il?rgl-_,
eSS s B g
(LG AT ST ) _slen S 1 e ST iy
Checking hints:

AL pe 0
AL e 57
(LE_‘A&Q)/:;..«Q,;&;Z?K&.T; S NS

A5




A5 144

B LT ya s 2y E 10 St IS Uy /B a2

Possible answers:
B e U I S e SnbmosdUi-aBngl » S6ba L Lol SFoakt 22 10y
Az LIRSSy
re bl
-‘L.J{gﬂf} LG
ce S 2e ML G adP b Lo
_.;-_C'i_pﬂf} JFEUS T
(B Ee I Ty e ) bl 2 S AG 148 Py
Checking hints:
ALK ik
AL i
(U r3) LKA L5
A5
~s 1521
YT A AL S stoite i Fbosef S oot S I L s bt byl Vs el SIS
U=l
Possible answers:

B 22,68 7 1bnossTT 2 L1 QPGS f Son S bbose e lisd s i (/S
S8 nf L;Jgﬂ,;u"- ¢ ,:”’Jc,li,z;,.!éé..ﬁ’ s e S jes lé;é...:ﬂ,;z;gﬁy&g o
B INg Sty /Ju;’/u:c;er’m‘f}/f Mo e dGf Lo Sy ju"féa’..r"’ s e
dF

WV e Bl L o 220 ST

Checking hints:

AL 42{?;‘ Y&

A uE'{-—"—"L'vJL?f .

A Liyeolos§ G 16/

AL AL E byaitaild

ﬁ2,§!4éf‘t/c)§; Sl

As:S s







